TITLE:   WHO’S MORE AGILE?
REQUIRED MATERIALS:

· A class full of willing participants

· A few small plastic cups
SAFETY CONSIDERATIONS:

· None, unless you have students with bad knees. In that case you could assign them either a recording role or place a mat on the ground for them to kneel on

MANITOBA MIDDLE YEARS CURRICULUM:
· 8-1-19  Describe functional similarities and differences of comparable structures and systems in different groups of living things.
· K.5.8.C.1a  Evaluate information related to healthy body weight and body image.
PROCEDURE:

I have chosen this discrepant event for several reasons; the first is that students of this age are in the process of going through puberty and are starting to notice changes within themselves and their classmates. I feel this lesson helps to convey the message that science is the determining factor behind student’s anatomical structures. The second is that young students often have the misconception that boys can do everything better athletically than girls. Thirdly, I chose this event because I feel it is fun and easy to replicate. Students will take this lesson home with them and try it on their parents and peers. There is scientific proof to support some of the structural differences between men and women. This activity can serve as an introduction or assessment to lessons on the concept of center of gravity and/or skeletal and structural differences between men and women. I also chose this discrepant event because it fits within the Manitoba Science curriculum as well as in the Physical and Health Education curriculum. (Two of my favourite subjects)
TEACHING SEQUENCE:

· Ask for two student volunteers ( 1 boy, and 1 girl)
· Explain to the students that this activity is being done for fun and to demonstrate a scientific function, that it is not competition.
· Explain to the students that this event does not demonstrate athletic prowess for either of the volunteers but merely goes to show the different structural functions of men and women.
· Have both the volunteers bend down on their knees on the floor facing the class. 
· Have them place an upside down plastic cup at a predetermined distance from their knees (they use their forearm to measure)
· Have the volunteers place their arms behind their back
· Ask the remaining students in the class to predict what the outcome of the event will be and why?
· Each volunteer (at the same time) will try to lean over just enough to knock the cup over with their nose, without falling forward or having to use their hands. 
· The outcome should be that the girl was able to knock the cup over and return to her starting position, whereas the male volunteer should have fallen forward and had to have used his hands to catch himself. 
· Ask the students if the outcome matched their predictions
· Have each student try this exercise on their own and to write down three reason as to why they were, or weren’t successful
· Ask the class if they can think of a scientific/ structural reason as to why (in general) women will find it easier to complete this task in comparison to men?
EXPLANATION:

· Explain to the students that men and women, once they have gone through puberty have structural differences

· In general, women’s body structure is such that they have a lower center of gravity, because of their wider hips and heavier boned structure in the lower abdominal part of the skeleton, as compared to a man’s anatomical structure.

· This lower center of gravity is the main cause for women to be able to bend forward in the kneeling position without falling forward. 

· In general, Men will fall forward during this activity because of the location of their center of gravity.

· Women are not small men, there are structural differences that make certain activities easier or more difficult for either sex

· A woman’s center of gravity is on average one inch lower and further back than a man’s. She also carries more weight below the waist; around her hips, buttocks, and thighs. Men, broader in the chest and shoulders, carry their weight above the waist.
· The center of gravity is the theoretical point where all the body weight is concentrated or the theoretical point about which the body weight is evenly distributed.
·  If a body is of uniform density and has a symmetrical shape the center of gravity is in the geometric center. If the object is not symmetrical and does not have uniform density, it is more difficult to describe the location of its center of gravity. 
· Because the human body is not symmetrical and is of non-uniform density, the center of gravity is difficult to locate. In fact, the body's center of gravity shifts with each body movement. When the distribution of a person's body weight changes, the center of gravity shifts toward the greater weight concentration. 
CONCLUDING QUESTIONS:
1. What are some factors that may affect the outcome of this experiment and taint the expected results?
2. Does the width of an individual affect their center of gravity?
3. Where in general is the center of gravity located in men, in comparison to women?
4. Name some activities that may be more difficult for women because of the situation of their center of gravity?
5. Besides Center of Gravity, what are some other possible structural differences between men and women?
REFERENCE:

I don’t know exactly where this demonstration has it’s origins from. Last year, My CT told me about having done this experiment in his Science and Health classes. I thought it sounded interesting and was something I wanted to attempt. I have never actually seen this performed in front of a class and therefore, am hoping it will be successful. 
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